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Decide if the following triangles are similar, congruent, or neither. Justify vour conclusion.
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¢. Prove the figures are similar, d. Prove the figures are similar.
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6. a. Findsalltheangles.inthe trianetesausing-the given information. Then find the value of 7.
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b. Are the triangles similar, congruent; orficithier? Explain-yeur.conclusion.
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7. a. Explain why APVW ~ APOKR .
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b. Find the length of PW .
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c. LExplain why ASPQ - ARQS .

f;P;zaag

kY & R |
" L Pag =L BSE
12 ¥ '.,J fre A, Fos
p00 i i L Tl m -
16 (o] : ~ i .=|
g, &-_Lgluamf‘_\,ﬂﬂfw /
N L by AA
¢ S—_——
\'g:b - e

I|?-__ﬁ
X e

e

e

/

/



